SPECIAL EDUCATION PLACEMENTS 1988-89

y 9

i l

and a second second

SCHEDULE D

SCHOOL	NO. OF STUDENTS ATTENDING	CLASSIFICATION	TUITION PER <u>STUDENT</u> (Estimated)	TOTAL
C.P. CENTER Belleville, N.J.	2 full time 2 part time	Multiply Handicapped Preschool Handicapped	\$14,790.00 7,395.00	\$29,580.00 14,790.00
Therapeutic School Belleville, N.J.	4 full time 2 full time	Emotionally Disturbed Multiply Handicapped	\$19,157.00 \$19,157.00	\$76,628.00 \$38,314.00
Child Development Center Bloomfield, N.J.	1 full time	Emotionally Disturbed	\$16,919.00	\$16,919.00
Forest Glen School Bloomfield, N.J.	3 full time	Educable Mentally Retarded	\$ 5,500.00	\$16,500.00
C.P. Center Clifton, N.J.	1 full time	Multiply Handicapped	\$14,150.00	\$14,150.00
Community High School Demarest, N.J.	1 full time 1 full time	Neurologically Impaired Emotionally Disturbed	\$12,793.00 \$12,793.00	\$12,793.00 \$12,793.00
Lakeview Learning Center Dover, N.J.	3 full time	Emotionally Disturbed	\$12,960.00	\$38,880.00
C.P. Center Edison, N.J.	1 full time	Multiply Handicapped	\$17,226.00	\$17,226.00
Bergen Center for Child Dev. Haworth, N.J.	2 full time 2 full time 1 full time	Neurologically Impaired Emotionally Disturbed Multiply Handicapped	\$13,225.00 \$13,225.00 \$13,225.00	\$26,450.00 \$26,450.00 \$13,225.00

5				
				-
Deron I Livingston, N.J.	1 full time	Multiply Handicapped	\$14,505.00	\$14,505.00
Gramon School Livingston, N.J.	1 full time	Emotionally Disturbed	\$13,500.00	\$13,500.00
Felician School Lodi, N.J.	1 full time 1 full time	Educable Mentally Retarded Trainable Mentally Retarded	\$11,708.00 \$11,708.00	\$11,708.00 \$11,708.00
ARC of Essex County Maplewood, N.J.	1 full time	Eligible for Day Training	Tuition pendin	g
Lake Drive School Mountain Lakes, N.J.	1 full time	Auditorily Handicapped	\$15,940.00	\$15,940.00
Montclair State College Demonstration Program Upper Montclair, N.J.	1 full time	Communication Handicapped	\$11,507.68	\$11,507.68
ECLC Morristown, N.J.	1 full time 1 full time	Neurologically Impaired Educable Mentally Retarded	\$14,419.00 \$14,419.00	\$14,419.00 \$14,419.00
Bergen County Special Services Paramus, N.J.:				
Midland Avenue School Paramus, N.J.	1 full time	Multiply Handicapped	\$ 6,299.00	\$ 6,299.00
Union Street School Hackensack, N.J.	1 full time	Emotionally Disturbed	\$ 4,860.00	\$ 4,860.00
Washington School New Milford, N.J.	1 full time	Communication Handicapped	\$ 4,854.00	\$ 4,854.00
William School New Milford, N.J.	1 full time	Emotionally Disturbed	\$ 4,193.00	\$ 4,193.00

· · · · · · · · · · · · · · · · · · ·		- 3 -		
Palisades Learning Center Paramus, N.J.	3 full time	Emotionally Disturbed	\$13,830.00	\$41,490.00
Chancellor Academy Pompton Plains, N.J.	5 full time	Emotionally Disturbed	\$13,410.00	\$67,050.00
The Holmstead School Ridgewood, N.J.	1 full time	Emotionally Disturbed	\$13,390.00	\$13,390.00
Union County Vocational School Scotch Plains, N.J.	1 shared time	Perceptually Impaired	\$ 3,290.00	\$ 3,290.00
Deron II South Orange, N.J.	1 full time 1 full time	Multiply Handicapped Communication Handicapped	\$15,495.00 \$15,495.00	\$15,495.00 \$15,495.00
Bergen County Vocational School Teterboro, N.J.	1 shared time	Emotionally Disturbed	\$ 4,000.00	\$ 4,000.00
Clearview School Wayne, N.J.	1 full time	Emotionally Disturbed	\$13,812.00	\$13,812.00
Passaic County Vocational School Wayne, N.J.	1 full time	Emotionally Disturbed	\$14,781.00	\$14,781.00
Essex County Vocational School West Caldwell, N.J.	1 shared time 1 shared time 6 shared time 1 full time 1 full time	Emotionally Disturbed Neurologically Impaired Perceptually Impaired Multiply Handicapped Perceptually Impaired	No tuition """ """ """ """	
Essex Valley High School West Orange, N.J.	3 full time	Emotionally,Disturbed	\$13,300.00	\$39,900.00
Calais School Whippany, N.J.	1 full time	Emotionally Disturbed	\$12,200.00	\$12,200.00

<u>SCHOOL</u> NO. OF STUDENTS CLASSIFICATION TUITION PER TOTAL ATTENDING STUDENT Devereux 1 full time Emotionally Disturbed \$1,787.00 per month Chester, N.J. Woodbine 1 full time Emotionally Disturbed Tuition pending

RESIDENTIAL PLACEMENTS

ι,

Woodbine, N.J.

PLACEMENTS PENDING

404

3 full time Emotionally Disturbed 1 full time Auditorily Handicapped 1 preschool Handicapped

- 5 -

1

Dated: August 29, 1988